

$$(z^2+1)z = z^3+z$$

y	z	
1	0	=
2	1	= 2
10	2	= 5
30	3	= 10
68	4	= 17
130	5	= 26
	6	= 37

$$\sqrt[3]{U - \sqrt[3]{U - \sqrt[3]{U}}} = z$$

$$U = z^3 + z$$

$$37 \cdot 6 = 222$$

$$U - (U - (U - (U - \dots))) = n$$

$$a=1 \quad U = n+n$$

$$U = 2n$$

$$\sqrt[3]{U - \sqrt[3]{U - \sqrt[3]{U}}} = n$$

$$U = n^a + n$$

$$n(n^{a-1} + 1)$$

$$(x+z)^4$$

$$(x^2+4x+4)(x^2+4x+4)$$

$$x^4 + 4x^3 + 4x^2$$

$$+ 4x^3 + 16x^2 + 16x$$

$$+ 16x^2 + 16x + 16$$

$$\begin{array}{r} x^4 + 8x^3 + 36x^2 + 32x + 16 \\ x^4 + 8x^3 \end{array}$$

$$36x^2 + 32x + 16$$

$$\left(\begin{matrix} 1 & x^2 \end{matrix} \right) x^2 + \left(\begin{matrix} 8x+36 & x^2 \end{matrix} \right) x + 32$$

$$\begin{array}{r} 45 \\ 34 \\ 150 \\ 45 \\ 525 \end{array}$$

$$350$$

$$3600 + 320 + 16$$

$$x^2 + 67x + 16$$

$$x^2 + 66x + 26$$

$$(x+33) = -26 + 1089$$